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To SOLVE a quadratic equation in the form y = ax2 + bx + c 
 
means to find its roots     which is the same as 

the zeros of the function           f(x) = ax2 + bx + c 
                                         0  = ax2 + bx + c   
which is the same as

the x-intercepts of a quadratic graph.

**Remember that x-intercepts are those value(s) of x when y = 0.       
(Remember there can be 0, 1, or 2 x - intercepts) 
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FINDING ROOTS

• You can still find the roots if you do not rearrange the 
quadratic equation into std form (y = ax2 + bx + c)

• You must graph both the left side and the right side of the 
equation.

• Where these graphs intersect will not be the root(s), 
however, the x value(s) of the intersection point(s) will be 
the roots.
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• You can then let x = 0, to find the y-intercept.

• You can find the midpoint of the roots to determine the axis of  
symmetry.

• You can substitute this x value(axis of symmetry) into the 
equation to find the corresponding y-value, which is the max/min 
value and the y-coordinate of the vertex.

• You now have enough information to sketch the graph!
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